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1. Answer any ten questions of the following:

10151

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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(a) How many parts are there in a standard form categorical proposition and what are they?
o SR AT AR FAH e 4R B e
(b) What is Immediate Inference? Give an example.
N SN P GO TR WS |
(c) ‘Only children are honest’—What is the logical form of this sentence?
‘@ e Ae—ag IR SERWPTIS St e
(d) When are tlwo categorical propositions contradictory to each other?
T o farers 4 siwe Rea e
(e) If ‘All S is P’ is true, then what is the truth-value of the proposition ‘Some S is P’?
i SR S T P’ Y W, OF ‘@ @F S T P'—aF AREy e
(H ‘EAO-3'—What is the fallacy committed in this syllogistic form?
‘EAO-3'—a8 Fmiarfoce § o wbem?
(g) What is the exclusive sense of ‘OR’?
oA weRr-az oy e
(h) If ‘P’ is false, what will be the truth-value of ‘[P o (Q . ~ Q)]’?
W P e 7, Ow@ P o Q. ~ Q)Y-aF TR M A
(1) What is the fallacy of Illicit Major?
&Y AT e

Please Turn Over



AP-111/Philosophy/CC-1C/GE-111/18 (2)

(j) What are the criteria of scientific explanation?

=i i SmveslE F e

(k) What are the conditions of a good hypothesis?
oI A Tew ApEd *eaf F e

(1) What is the main difference between deductive and inductive inferences?
SRR G WAIZ TS T A A J e

(m) What is a truth-functional proposition? Give an example.
HEIAT A P2 G0 Twizad WS |

(n) Mention two cases where ‘A’ proposition can simply be converted.
G 4 I AN FR @A A’ A I A HES |

(0) What are the forms of immediate inferences when existential fallacy occurs?
TGN AR (@I (P CHFG GG (A WO ?

2. Answer any four questions of the following: 5%x4=20

NwA @ @ b1k AR TE WS 2

(a) What is conversion? Give the converse and obverse of the proposition: ‘All residents are
voters’. 2+3=5

SRS IE A2 e ARG W (ol —a2 IHAna Sifee ¢ e wme @t

(b) What is the opposition of propositions? Distinguish between contrary and contradictory
oppositions? 2+3=5

Hea Rafre e Reife vz Res R@ifter g v @)

(c) Whatis the difference between a sentence and a proposition? Give the Boolean interpretation
of the following sentences and represent them by means of Venn diagrams:

AR @ TBE W AL Ne iR el T Fiis aom w et Srfre

Q2
(i) Selfish people are never happy.
Fidow giea FE G 77
(ii) Most fruits are juicy. 1+4=5
@S T PG |
(d) Define categorical syllogism. What are its characteristics? 2+3=5

e WEa el wie | [arer® e gt @ e

(e) What is a truth-functional statement? If A, B, C are true and X, Y, Z are false, determine
the truth-values of the following: 14+4=5
i A, B, C 3 @ X, Y, Z e =7, w7 fasfelesfm wepey fd s e
1) [(A-X)2Y]Io[(X2A)vY]
(ii)) ~[(A-B)vX]o[~Y -~Z]
(f) What is explanation? Distinguish between scientific and un-scientific explanations? 1+4=5

Y e [@@RE 9 W@ S FAT T AR I
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3. Answer any two questions of the following: 10x2=20
BT @ @I 75 A Taw e o

(2) What is meant by ‘mood’ of a syllogism? Determine the validity of the following moods

with the help of Venn diagrams: 2+(4+4)=10
-SRI 70 B AR ¢ (Sfdg ~wien AR ke gl tae! fRda a0t ¢
(i) AAI -4
(i) 1Al -3

(b) Use truth-table to determine the validity of the following agruments:
Hopada A R feofm tawe Rd s
(i) A>~B
A
. 0
(ii) If the litmus paper turns red, then the solution is acid. Hence, if the litmus paper

turns red, then either the solution is acid or something is wrong somewhere.
5+5=10
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(c) What is a statement-form? Use truth-tables to determine whether the following statement-

forms are tautologous, self-contradictory or contingent: 2+4+4=10
T e TSN A WERRe el FeTe, Fosfey At wikE [
ol fazole F e

i) po>9>(@-~9
(i) (p > g2lgon>((>0]
(d) What is Scientific Enquiry? Explain with examples the different stages of a Scientific
Enquiry. 2+8=10
mﬁawﬁ?mmﬁ%ﬂmﬁmmaﬁam



